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EIGHTH SEMESTER B.TECH. TENGINEERINC] (O9

EXAIIINATTON, APRIL 2Ot6

EEIPTEE 09 8o1_ELECTRICAL SYSTEM DESIGN

. fime: Three.Hours

Part A

Answer all qwstians.

1. Write down the firnctions of VGB and ELCB.

2. Why silver is preferred as a fuse element inspite of its highercost ?

3. Define demand factor.

4. What do you understand by substation ?

5. Tlthat is called colour rendering.

Part B

Answer orgy four gustbrc.

" 6: Eiscuss the advantages and disadvantages ofa fuse.

: 
. 7 Explain the following terrns in connectionwith fuse:

(a) natcd current.

. ft) Fusing facbor.

. (c) Fusing cutlent.
(d) Cut+ffcurrent.

.8. what are the factors to be considered for the selection of LT cables ?

^ ; 4: Distinguish between power transformer aad distribution transformer.
' 10. What is meant by stroboscopic eftiect ? How it can be overcotne.

,. }1: Distingsish between direct andindirect lighting.

Maximum:70 Marks

(5x2=lOmarks)

(4x5=20marks)
Part C

. Answer all qucntbtu.

,a' whai are the different t1ryes of fuses ? Discuss with a neat sketch the construction and workingprinciple of a HBC fuse.

Or
l3' what is meant by earthing ? Explain the design of pipe earthing with neat diagram.
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''rt'" .*- What are the causes ofXow power factor in electric supply system ? Exptain automatic power factor
/ correction method in detail.

Or

lS.rprnlain in detail about paralleling of UpS system,

,fi Vn"t are the different types of substations ? Eraw the single line diagram of any one type of' substation and list down the various,equipments used in that substation.

Or
Draw the elevation of an II pole mounted. substation and show all tJre equiprnents required.

A workshop measuring 15 m x 36 m is illuminaied by 20lamps of 5O0 watts eaeb. Ttre luminsus
efficieney of each lamp is l5 lumens perw.att. Allowinga deprecation factor of 0.? and eoefficient
of utilization of 0.5 determine the illumination on the working plane.

Or

19. A lamp having a uniforn candle po\r'er of 300 in all directions is provided with a reflector which
dir.ects 50% of total light uniformly on to a cireular table of 3m diameter. The lamp is hrurg 3m
above the.table. Galculate the illurninrlien (a) at eentre i (b) at the edge of the table.

(4 x 10 =40 marks)

tl ,\.,

A

4:
)9.


